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Question 1.Pick the Synonym for the word "SLUGGISH"
Options:

a) active

b) energetic

c) inactive

d) suspicious

Correct Answer: inactive

Question 2.Which of the phrases (a), (b) and (c) given below should replace the phrase given in bold in the following sentence to make the sentence grammatically
meaningful and correct. If the sentence is correct as it is and no correction is required, mark (d) as the answer.

But in the hectic rush of events, both the military and civilian authorities will fail to make effective use of the information they had collected.

Options:

a) was failed in making effective use of

b) failed to make effective use of

c) fails to make effective use of

d) no correction required

Correct Answer: failed to make effective use of

Question 3.Mark the most appropriate substitute to fill the blanks in the given description :
His habits are very similar mine

Options:

a) Of

b) To

c) On

d) With

Correct Answer: To

Question 4.Choose the odd one from given four choices :
Options:

a) Radio

b) Stereo

c) Gramophone

d) Television

Correct Answer: Television

Question 5.Find out the correct spelt word from the choices given :
Options:

a) Obedeint

b) Obedient

c) Obadeint

d) Obedeant

Correct Answer: Obedient

Question 6.Choose the word which is the exact OPPOSITE of the given words:
EXODUS

Options:

a) Influx

b) Home-coming

c) Return

d) Restoration

Correct Answer: Influx

Question 7.Choose the appropriate word in the blank from the given alternatives.
They no notice of what people say about them

Options:

a) Make

b) Mind

c) Take

d) Keep

Correct Answer: Take

Question 8.Change the direct narration to indirect narration :
"If you don't keep quiet I shall shoot you", he said to her in a calm voice.
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Options:

a) He said calmly that I shall shoot you if you don't be quiet.

b) He warned her calmly that he would shoot her if she didn't keep quiet.
c) Calmly he warned her that be quiet or else he will have to shoot her.
d) He warned her to shoot if she didn't keep quiet calmly.

Correct Answer: He warned her calmly that he would shoot her if she didn't keep quiet.

Question 9.Select one word which is closest in meaning to the statement in the question :
Language which is confused and unintelligible

Options:

a) Jargon

b) Idiom

c) Vernacular

d) Vocabulary

Correct Answer: Jargon

Question 10.Four parts of a sentence (P/Q/R/S) are given. Arrange them in the right order to produce a correct sentence :
providence had helped me/to retain my true identity and/changed the course of my life/in the process

Options:

a) PSQR

b) PQSR

c) RSQP

d) PRQS

Correct Answer: PQSR

Question 11.What is the name of the job portal brought under the Common Services Centres initiative?

9 a1 F% Ugd F Sl o ST Ui A Bl AR RIS ?
Options:

a) CSC Rozgarsahayata

CSCRIS

b) CSC Rozgarduniya

CSCRIS

c) CSC Rozgarmitra

CSCRIS

d) CSC Rozgarkaryalaya

CSCRIS

Correct Answer: CSC Rozgarmitra
CSCRIS

Question 12.Moti Masjid in the Red Fort, Delhi was Constructed by

1 fpam, el & At wfdsre o1 FAafor R [ mar o |
Options:
a) Shershah

b) Shahjahan
RUGE K

c% Aurangzeb

d) Bhahadurshah Zafar

Correct Answer: Aurangzeb

Question 13.Which "Mobile App" has been launched by TRAI to measure Mobile Internet speed

TR R HIOd e TS & AA & R F 91 'HieBd T IR [Par T e ?
Options:

a) SpeedAxis

b) WhatSpeed

c) MySpeed

d) MobileSpeed

Correct Answer: MySpeed

Question 14.The present ISRO Chairman

JATH T SR & femef
Options:

a) G Madhavan Nair
St HTea ARR

b) K Radhakrishnan

& AUHO

c) AS Kiran Kumar

T T o0 $AR

d) None of these

T A BIE Tel
Correct Answer: AS Kiran Kumar

T Oy fhrur R
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Question 15.Who has been appointed as President of International Cricket Council (ICC)?

fora! SiaRTgia e uRve (SnEiiedh) & sreaer & wu o fgad fovar mar g2
Options:

a) Zaheer Abbas

TER e

b) Mustafa Kamal

HIAWT HHTA

c) Austin Garden

S
Correct Answer: Zaheer Abbas

TER 3fes™

d)v John Sheriff
AMR®

Question 16.What are you doing? The most suitable answer to the question is

Y TN HR TP § ? 5T T BT G IUYI FTR @ -
Options:

a) I .am in dark sleep

Fmedficd g

b) I am waiting for someone

& et &t e AR @I E

c) I was in dark sleep

Frgd g & or

d) None of these

EREREEE )

Correct Answer: I am waiting for someone

& foreft &t e SR @I R

Question 17.Mahabharta was written by :

TETHRA & TGH B o
Options:

a) Ved Vyas

I I

b) Valmiki

et

c) Tulsidas

d) None of these

T A P TRl

Correct Answer: Ved Vyas
g ™

Question 18.Which of the following is cold blooded animal?

=78 § A P 91 68 G SR 82
Options:
a) man

I

bz crow

c) lizard

d) tiger
i)
Correct Answer: lizard

Question 19.The longest National Highway in India runs from

YR T HeR Tl JAPTA ST Pol J Dol b o
Options:
a) Kolkata to Jammu
o
b) Bhopal to Kanyakumari
U ¥ ST HART

c) Ambala to Nagarcoil
e ¥
d) Varanasi to Kanyakumari

Correct Answer: Varanasi to Kanyakumari

Question 20.Which one of the following is described a the Fourth Estate
g & ¥ 5 T T eI AT g
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Options:
a) Executive

b) Legislature
faefieT

c) Press

d) Judiciary
Ui

Correct Answer: Press

Question 21.Find the Inverse Laplace transform of f(p) = 1/ (p-1)

f(p) = 1/ (p-1) 1 Z79Y AU TR TaT Hiford
Options:
a)l

b) eat
c) cos at
d) cosh at

Correct Answer: e2t

Question 22.The maximum value of (1/x)*

(1/x)* BT BT A § |
Options:
a)e

b) el/e

<) (1/e)°

d) None of the_se

0 A BIs el
Correct Answer: el/e
Question 23.

In fourier series f(x) = ay +X* i{a, + cos(nx) + b,,sin(nx)},
Euler formula is

BN AT f(x) = ag+ X7 1{a, + cos(nx) + b, sin(nx)}

A YgeR Hlael &
Options:
a)

ap = ;:_,I"_F;f(x)dx

b)
ao = [, f(x)dx

)
ag = :1—‘7 _J"_"T_Wf(x)sin (x)dx

d) none of these
Correct Answer:

ag= i,{ 7 rxdax

Question 24.The equation of the circle whose two diameters are x=2y and 2x+y=0 and radius = 5 is

T T THIHRUT STeh < oI x=2y 3R 2x + y= 0§ SR A= =58 |
Options:
a)x2+y2-25=0

b)x2+y2+25=0
c)x2+y2+15:0

d)-x2-y2-25=0
Correct Answer: x2 +y2 +15=0
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Question 25.

Thereal part and imaginary part of are

4—j 4+j
Options:

a) a =32/17, -2/17

b) 17/32, 17/2

c)-17/32, 17/2

d) none
Correct Answer: -17/32, 17/2

Question 26.

d
— hx
cosechx

Options:
a) cosechx cothx

b) - cosechx cothx
c) -sechx cothx

d) sechx cothx
Correct Answer: - cosechx cothx

Question 27.If 8 is the angle between Two lines whose slopes are my & m; , then Tan 8 =

T T TSN & T my & my § 3R I ST @1 F 19 BT HI0T 6 T, a
Options:

a) my - mp

b) mp; +my

c) (my - my) / (1+ my mp)

d) (my - mp) / (1- my my)
Correct Answer: (m; - my) / (1+ my my)

Question 28.Find the midpoint of the segment joining the points (4, -2) and (-8,6).

(4,-2) 3R (-8,6) fagaii 1 Se ara A &1 Teg g &N
Options:
a) (6, 4)

b) (-6,-4)
©) (22

d) (-2, 2)
Correct Answer: (-2, 2)

Question 29.When proving that a quadrilateral is a trapezoid, it is necessary to show

T T BISIAIeId Bl 2USIZS UM e 8, T SmawT® 7 |
Options:

a) only one set of parallel sides.

THIR YeTTel BT had T Ue

b) one set of paraIIeI sides and one set of non-| paraIIeI sides.

TF YT F FAIR YOI 3R TP I BT SRR Yomd

c) one set of parallel sides and one set of congruent sides.

T e F JHIR Yo 3R T Je B BIgTRT Yolld

d) two sets of parallel sides.

TR Yo o1 g Je

Correct Answer: one set of parallel sides and one set of non-parallel sides.

TF YT F FHIR YoITE 3R TP I BT SR Yomd

Question 30.When proving that a quadrilateral is a parallelogram by using slopes, you must find:

T TGS & TN BT TGNT B TR I Rig B & g simawas §
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Options:
a) the slopes of all four sides.
IRY YTt BT g
b) the slopes of two opposite sides.
fadm ysaff &1
c) the lengths of all four sides.
TRY YR B R
d) both the lengths and slopes of all four sides.
TR YeTal &I e SR W
Correct Answer: the slopes of all four sides.

TIRT YaTreft B T
Question 31.When proving that a triangle is a right triangle using coordinate geometry methods, you must:

FifSe RTHE BT TR FRBAYS B THGHI Byl Rig F3 & fow g 9miee

Options:

a) show that the slopes of two of the S|des are negative reciprocals creating perpendicular lines and right angles.
T & fob < Yl & Wiy & A7 IRnhed § S wadd W 3R S0 ST 8 |

b) show that the lengths of the sides satisfy the Pythagorean Theorem, thus creating a right angle.

2RI & 5 YSTIof Y TS TSRS YT 1 TP B &, Sfet: IV 5 X € |

c) both

d) none
B el

Correct Answer: both

Question 32.If f(x) = 3x%, then F(x) =

e f(x) = 3x%, T F(x) =
Options:
a) 6x

b) x3
ox3+C

d)6x+C
Correct Answer: x> + C

Question 33.A partial differential equation requires

iR feth e atevor & srazgesdr gkl @ :
Options:

a) exactly one |ndependent variable

& 1 3ifies Wi aRkue

b) two or more independent variables

W ¥ 31fie R IReew

c) more than one dependent variable

& ¥ 31w R IReew

d) 1% T W IRTEd

Correct Answer: two or more independent variables

@ ¥ it MRk dfeaa

Question 34.If G is a cydlic group of order 24 and a2092=a" where a € G and 0 < n < 24. Then the value of n is

e G, 3ITSR 24 T ABfFTD IO 8, 2002=a" TgTa € G 3R 0 < n < 24. A n HTHA G :

Options:
a)4

b) 6

c)8

d) 10

Correct Answer: 10

Question 35.Let g(x)=F(x)+f(1-x) and f'(x) < 0 for all x € (0,1). Then the interval in which g(x) is increasing is

T g(x)=Ff(X)+F(1-x) 3R £1(x) < 0 FHt x € (0,1). T g(x) T icrer & g s

Options:
a) (1/2,1)

b) 0,1/2
©) (0,1/2) U (1/2,1)

d) none qf these

PR T
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Correct Answer: (1/2,1)

Question 36.The firs iterated kernel of the kernel k(x,t)=e**t; a=0,b=1 is given by

kernel k(x,t)=e**t: a=0,b=1 BT TYH TS B GNI
Options:
a) 2extt

b) (1/2)e**t
C) eX+t

d) (eZ _ 1)ex+t
Correct Answer: e**t

Question 37."Mathematical Expectation of the product of two random variables is equal to the product of their expectations" is true for

3 Y50 INTET F HYARST TG IH $T UFThT 375! TRIUSTH & TIHThS & SRR 8118 |
Options:
a) any two random variables.

b) if the random variables are independent.

Ifg Yeu INTee e §

c) if the covariance between the random variables is non zero.
e Ysu IRew BT PR T SR T 8

d) if the variance of the random variables are equal.

e {0 IRTea &1 IRTH /R 7

Correct Answer: if the random variables are independent.
Ife ¥eu INTee e §

Question 38.Consider the group Z4g5 under addition modulo 495.

(i) {0,99,198,307,406} is the unique subgroup of Z4g5 of order 5.

(ii) {0,55,110,165,220,275,330,385,440} is the unique subgroup of Z49s5 of order 9.
Then,

T Z495 NS HISIA & Sfaifd g 495.

(i) £0,99,198,307,406} Zsg5 3SR 5 BT Hal JaYY © |

(ii) {0,55,110,165,220,275,330,385,440}31SX 9 BT 3Pl TGYY D495 .
ar

Options:

a) (i) is true, but (ii) is false
) T ® 3R (ii) 39 §

b) (ii) is true, but (i) is false
i) 9 7 3R (i) 39§

c) both (i) and (ii) are true
) R i) Ta ®

d) both (i) and (ii) are false
i) 3R i) 3T

Correct Answer: both (i) and (ii) are true
i) 3Ry T g

Question 39.A hydrogen atom is excited from n=1 to n=3. What is the value of energy absorbed by the atom ?

T TRSIoH TRA] B n=1 § n=3 TR & IAfrafesa1 a1 § | TR gRT a0 St fasat grft 2
Options:
a) 9.06 eV

b) 12.09 eV
c) 13.6 eV

d) 10.2 eV
Correct Answer: 12.09 eV

Question 40.The element with maximum number of its electrons in the valence shell has atomic number

TP Foael Bt 3T I A & T@ AT dcd BT URHTY] HHib :
Options:

a)2

b) 3

c)9

d) 15
Correct Answer: 2
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Question 41.Candela unit according to system international is a

SIRIFT ST P SHTUR bSel TS 6 ©
Options:
a) derived unit

b) subplementary unit
Rp

c) international unit

d) base unit

Correct Answer: base unit

ERECH

Question 42.The electronic configuration of "Cr" with atomic number 24 is

RATY] HHid 24 GTe "Cr" BT ST D DIBURA I ¢
Options:
a) 1s2 252 2pb 3s2 3p® 3d* 4s2

b) 1s2 252 2p® 352 3p® 3d°
c) 1s2 252 2pb 352 3pb 3d5 4s!

d) 1s2 252 2pb 352 3p® 3d* 4s! 4p!
Correct Answer: 1s2 2s2 2pb 3s2 3p6 3d5 4s!

Question 43.Which one of the following is not correctly match

frofafed 7 9 o 9 79 e g 2
Options:
a) kilowatt-hour-energy

Yel-
b) Celsius-name of a king
RG-S BT

c) Balance wheel in watch-invar

d) newton-forces

YcA-9d

Correct Answer: Celsius-name of a king
XTSI T - H

Question 44.These are used for bloodless surgery

IR eutaie § T SN fhaT w & .
Options:
a) Anesthetic

b) Fiber-optics
BRER e

c) Lasers

d) None
BIS el

Correct Answer: Lasers

Question 45.which one of the following is not a unit of time

i A B9 a1 9wy 1 HES T €.
Options:
a) Micro _second

b) Second
IJhs
c) Year

d) Light year

e

Correct Answer: Light year
Ty I

Question 46.Boltzman's constant and planck's constant differ in the dimensions of

e RRIP ok Wy RIS & fareraft @1 SR B & |

Downloaded-From:http://sscportal.in


https://career.aglasem.com/

Downloaded-From:http://sscportal.in

Options:
a) Time and temperature
T 3R AHE
b) Mass and temperature
ST 3R qTIHH
c) Length and mass
TEE 3R GHH
d) Length and time

oS SR I

Correct Answer: Time and temperature
T 3R AIHE

Question 47.Visible light's wavelength range

TR THIR BT AT P I
Options:
a) 0.39 - 0.77 mm

b) 0.39 - 0.77 um
c) 0.39-0.77 nm
d) 0.39-0.77 cm

Correct Answer: 0.39 - 0.77 pm

Question 48.Metals are

uig_ Bg

Options:
a) Transparent

b) Opaque
SRR
c) Translucent

d) None
B el

Correct Answer: Opaque

Question 49.Sky looks blue because the sun light is subjected to

STET =t ferara § e g v & BRI
Options:

a) Rayleigh scattering

Yo el

b) Compton scattering

c) Rayleigh scattering and Compton scattering
o WhefAT 3R Hige WhefaT
d) None

P el

Correct Answer: Rayleigh scattering

Question 50.Soft materials absorb large amount of

P gerd F Igd T B STV B & |
Options:
a) heat energy
ST
b) light energy
BT Sl
c) electromagnetic waves
i T
d) sound energy

Correct Answer: sound energy

& ot

Question 51.Echo of sound is more prominent if surface is

SRR [ds W S JHad g g |
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Options:
a) soft
Cabr|

b) rigid
FOR

C) porous
Y
d) smooth

T3

Correct Answer: rigid

Question 52.Ratio of sin(x°) of angle of incidence to sin(x°) of angle of refraction is

MU PN sin(x°) BT HTTAA BHI0T sin(x°) T ST
Options:
a) Gravitational law

b) Reflection law
c) refraction law

d) Snell's law

a9 &1 Fgw

Correct Answer: Snell's law

a9 &1 Fam

Question 53.Bending of light as it passes from one medium to another is called

T HIH J GO AT § ST TR BT 1 {1 el g :
Options:
a) reflection

b) diffraction
ShomeH
c) refraction

d) deflection

Correct Answer: refraction

Question 54.Refractive index of a medium is

A1 1 Rifaea 3309 BT g

Options:

a) Speed of light in air to speed of light in vacuum

YT P arg | A | gt 3 FHafa 7 fa

b) Speed of light in vacuum to speed of light in air

Ut $ Fafd & i S v @t arg B/ i

c) focal length to object distance

Bind oY F sffeaiae gl

d) speed of light in the medium x speed of light in the air
TSR & ATAH H 7T THIR $1 ag & T

Correct Answer: Speed of light in air to speed of light in vacuum

TSI Y arg | T ¥ Yt Bt FAafa 7 vfa

Question 55.Color TV has approximate power of

il A o faa e BN |
Options:
a) 100

b) 110
c) 120

d) 130
Correct Answer: 120

Question 56.If a vector gets multiplied by a positive number, then its direction

I TP Jaex DI LTS T  THT R (331 AT T 39! = :
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Options:

a) remain same
T g1 e

b) reversed
JeIc B S
c) gets half
ST BT STl §
d) gets double
[AURIEESIGIE
Correct Answer: remain same
LeadRE

Question 57.Parameters for a RLC circuit are R=2 Q,L=1H, C= 1 F . If these are connected in series first and then in parallel, the system response for both the
circuits will be -

TP RLC IRUY % R TR=2Q, L= 1 H, C= 1 F | IR 5% Uga Ivft 1 & SieT S 3R I a1 JHiaR HH | SeT S ot <1 aRay o1 Riew Red =y g -
Options:

a) underdamped, undamped

b) .critically Qamped, overda.mped

c) critically damped, underdamped
£ £ T £
d) under damped, critically damped
<- o, 1 !
Correct Answer: critically damped, underdamped

Question 58.An electrolytic capacitor can be used for

TP AT ARICH HURICI TANT T TR ST Jbal § :
Options:

a) DC only

DC

b) AC only

AC FHad

c) Both

d) None
B el
Correct Answer: DC only

DC »ad

Question 59.Find the radius of an isolated sphere capable of being charged to 1 million volt potential before sparking into the air,given that breakdown voltage of air is
3 X 10M%/cm

TATH W H IV U8d 10 ARG diee do SATARI §F a1 U Jud g, e Swers dieed 3 X 10%v/em 8, 3 Bsar gl :
Options:
a) 0.33metre

b) 0.43metre
c) 0.53 metre

d) 0.63 metre
Correct Answer: 0.33metre

Question 60.In an a.c circuit,the ratio of kW/kVA represents

TF a.c URTY H, KW/KVA BT 3UTT TeRfd Hrar g :
Options:
a) power factor

Uch
b) load factor
S 9Th
c) form factor

Ucdh
d) diversity factor

Uch

Correct Answer: power factor

fed gedh

Question 61.Gauss's law due to different charge distribution is used to calculate

i MW faaRur & forg i & Fom &1 ST T & R TP wan 8 1
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Options:
a) electric field

b) electric charge
A
c) electri; intensity

d) electric field .Iines
fagad wic asa

Correct Answer: electric intensity

Question 62.Relative permeability of vacum is

faafa # Refes witgsiche Esik
Options:
a) 4M1x10-7 H/m

b) 1 H/m
ol

d) 4N
Correct Answer: 1

Question 63.The capacitance of a parallel plate capacitor is not influenced by

THiR @ie PURYER B HORI Jyuifad T ERN R |
Options:

a) Thickness of conducting plates

HSAET Wil &f Aies

b) Area of the conducting plates

HEfaT WTl BT &AHd

c) Distance separating the plates

icl & S B gl

d) Nature of the dielectric between the plates
wiel ¥ i SRufa® @ Ui

Correct Answer: Thickness of conducting plates

P Wl Bl HeE

Question 64.The direction of induced e.m.f. in a conductor (or coil) can be determined by

TS 10 (A1 Hod) B IR e.m.f. 3} ez &1 FaRor fwar o v § 59 gR
Options:
a) work law

b) ampere's law

c) fleming's right hand rule
131 g &1 Fam

d) fleming's left hand rule

TRIHT &1 1 8T T |

Correct Answer: fleming's left hand rule
H1 I BT BT |

Question 65.Electric Field is defined as

fagaa & ufwifd frar ST 2 -
Options:
a) Potential per unit Distance

faya ufd s QA F wu A
b) Force Per Unit Charge
A Ui IHTS MM & &4 H
c) Voltage per unit Current

Jlecdl Ul SIS 9RT & &4 H
d) None of The;se

Correct Answer: Force Per Unit Charge

T U 3PS AN P T H

Question 66.Electric Field is a

fogaa &= 8
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Options:
a) Scalar Quantity

T S My
b) Vector Quantity

T iy A
c) Both Scalar Quantity & Vector Quantity
T MM M 9 Teb Fia AR G
d) None of these
QB el
Correct Answer: Vector Quantity

T i IR

Question 67.Tesla is the unit of

T (Tesla) 3P § -
Options:
a) Magnetic Field

] Eal

b) Magnetic Flux
i e Bt
c) Electric Field

fagaa & 3t
d) Electric Flux
fagad wreg &1

Correct Answer: Magnetic Field

GaD I & Bt

Question 68.Power Factor of an A C circuit lies between

AC IRUY &1 1R thaex 1% o gl §
Options:
a)0and 1

b)-1and 1
c)-land 0

d) none of these
Correct Answer: 0 and 1

Question 69.A solar cell is an example of

TR A fgepT IR § 2
Options:
a) photo voltaic cell

b) photo conductive cell
Blcl Hefaea ud
c) photo emissive cell

d) photo radiation cell

Correct Answer: photo voltaic cell

Question 70.
Find the voltage across RL in figure when R =1KQ and 2 KQ

RL UK divecar @@ =@ RL =1Ka and 2 Ko
1.5K0)

45V _|_ 12 ma K0 RL

Options:
a) 9v, 12V

b) 4V, 8V
c) 16V, 24V

d) 18V, 36V
Correct Answer: 18V, 36V
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Question 71.Two lamps of 100W and 200W rated for 220 V are placed in series and a 440V applied across them, then

220 V¥ & 100W 3R 200W F &1 AT Bl Joft F @ ST B 3R 440V dlecsl Pl 31 371y I ST & ,
Options:

a) only 100W lamp will fuse

Had 100W I AT T g

b) only 200W lamp will fuse

Fad 200W T RS §IT

c) both lamps will fuse

S AT T BT

d) no lamp will fuse

PIE T wGST e G

Correct Answer: only 200W lamp will fuse

Fad 200W T RS §RT

Question 72.The internal resistance of a lead acid cell is mainly due to...........

s uRys At F sifalRe Tfatedar F PRUEA T |
Options:

a) positive plates

YITHD

b) negative plates

HUTHAS T

c) both positive and negative plates

YTTED 3R FBUMED TIe T

d) electrolyte

Correct Answer: both positive and negative plates
IS 3R BUHS @ GHI

Question 73.Electrons in atoms and molecules can change energy levels by emitting or absorbing

TRATY 3R 3 F AR 3ddel=g ------- BT IO U4 ST R P 30 Ioif &l H IRad PR Jba & .
Options:
a) Protons

b) Photons
Bler
c) electrons

d) All of these
IRiad T

Correct Answer: Photons

Question 74.when a lead acid cell is recharged

T STt I Bl TSt B R

Options:

a) The anode becomes dark chocolate brown colour
THIS BRI AIdae 4T I H Feadn

b) VoItage rises

c) Energy is absorbed by the cell
[ Jroll BT 0T HRaAT

d) All of these

Iwiad i

Correct Answer: All of these

Question 75.A bipolar junction transistor with forward current transfer ratio a=0.98, when working in CE mode, provides current transfer ration B as

TH TRUICR SaRH CToReR ST BhRAS Bic TIhR R, a=0.98 7, S CE TS & B & W8T §, T8 B B I B USH BT ;
Options:

a) 98

b) 0.02

c) 49

d) 0.49
Correct Answer: 49

Question 76.A Series Series feedback amplifier is

% R RRY wisss TR R
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Options:
a) Voltage amplifier
et

b) Current amplifier
c) Transresistance

a) Transconductance

Correct Answer: Transconductance

X

Question 77.When a BT is employed as an amplifier it operates

S U BIT HI U TUChToRS =0 H TN W1l 8, ol T8 SHTORT el §
Options:

a) in cut-off

He HTE |

b) in saturation

c) well into saturation

JRA H oSt T=E

d) over the active region

Hicby &1 |

Correct Answer: over the active region

v &

Question 78.Electronic distribution of an Si atom

T Si AT B 3ade e faaRor giar g -
Options:
a) 2,10,2

b) 2,8,4
c) 2,75

d) 2,48
Correct Answer: 2,84

Question 79.Diamagnetic materials are

Options:

a) Attracted by Both poles

b) Attracted by North Pole

I Yd GRT 3BT B §

c) Repelled by North Pole

IR 4d GRI '

d) Repelled by Both Poles

I 4l gRI Tl ia gl & |

Correct Answer: Repelled by Both Poles
[ ofdlf gR1 ufdsfifa 81 § |

Question 80.Ferromagnet can be demagnatised by

Aeded o fagafdrd frar o ear & -
Options:

a) Heating to Curie Temperature

R IIEH dF I

b) Keeping Magnet in Alternating fields
YP Bl SMeexACT & H 3@ IR

c) Exposure to Cyclic Fields
STt & § @ W

d) All of these

IWRiad T

Correct Answer: All of these

Question 81.Botzmann Constant represents the variation of voltage with

Seed RIS, dieedl B URddH fae I UeRid #dl &
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Options:

a) Current
YRT

b) Resistance

c) Pressure

ald

d) Temperature

i

Correct Answer: Pressure
qld

Question 82.The depletion layer in p-n junction is caused by

p-n S H fS=iiz oR 39 RO A I §
Options:
a) drift of holes
F e
b) diffusion of charge carriers
PR 91 & fewge 3
c) migration of impurity ions
IS T & AU
d) drift of electrons
TH & e A
Correct Answer: diffusion of charge carriers

FieR 9 & fewgeH 9

Question 83.which of the following configuration is used for Emitter follower Amplifier

TR BTASR URAHER F o 378 § S 1 SIRpTRe / 3= Iy faar mar 2
Options:

a) Common Base

B o

b) Common Emitter

P TR

c) Common Collector

DI

d) None

BIg 8!

Correct Answer: Common Collector
B

Question 84.Semiconductors (e.g. germanium, silicon etc.) are those substances whose electrical conductivity lies in between conductors and insulators. In terms of

energy band, the valence band is and conduction band is

gmw(@gy,wm)ﬁm%wmmﬁﬂmm@w%maﬁmqﬁfé‘swauﬁ,aﬁa—s 3R HeagT
I

Options:

a) almost filled, almost empty

TR 4RI, TTH Wit

b) almost empty, almost filled

TRTHAT TR, T HRT

c) almost filled, almost filled

YT HRT, TRTHAT 4RI

d) almost empty, almost empty

TRTHT eH, T

Correct Answer: almost filled, almost empty
TRTHAT 4RI, TRTHT FTeit

Question 85.The current gain of amplifier stage is lowest in

TRABRR RS & ®ie A YAaH g g
Options:
a) CB configuration
CB PIFBATH
b) CE configuration
CE SIRpIRM
c) CC configuration
CC IR
d) same in all configurations
o g9
Correct Answer: CB configuration
CB HIpURH

Question 86.In a negative feedback amplifier, current sampling

TMET ISP TRABRR H, Hie Jufi :
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Options:
a) tends to decrease the output resistance
3T3TYC URIY B 9T Bi 3R

b) tends to increase the output resistance

3T3TYe UfRY & T &t

c) does not alter the output resistance

31ITYE YRy B TeT Sgerdt

d) produces the same effect on output resistance as voltage sampling
JafiT S THH THT ST FRAT R |

Correct Answer: tends to increase the output resistance

JTITYE URRIY Bl TgH BI 3R

Question 87.A high Q tuned circuit in a tuned amplifier permits it to have high

TS TBER & I Q Us IRuY S= P B TAR |
Options:

a) selectivity

BSERIIEE]

b) fidelity

LSRG

c) sensitivity

d) frequency range

Correct Answer: selectivity

Question 88.Crystal oscillator uses

freed sifRmer & wam gl e
Options:
a) silicon crystal

b) germanium crystal
c) crystal diode
forea sHis

d) piezo-electric quartz crystal

= <

Correct Answer: piezo-electric quartz crystal

Question 89.The pulsating dc applied to power amplifier causes

TTaR TAH IR § AR TerifeaT SRt :
Options:
a) Burning of transistor

X

b) Hum in the circuit
IRUY F HUM

c) Excessive forward voltage

LI
d) None of these

Correct Answer: Hum in the circuit

aRgy § HUM

Question 90.Power amplifiers generally use transformer coupling because transformer permit

TR TRENTPTER # FHTRIG; TR IHR HUTRHT &1 TaNT gidT & Fife TRehiHR Wipd FRaAT T |
Options:
a) cooling of the circuit
DI Gl G
b) Impedance matching

c) distortion-less output
e 8M3eqe

d) good frequency response
31

Correct Answer: Impedance matching

Question 91.Low efficiency of a power amplifier results in

TR TRl TER & Y gafar uRomd §
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Options:
a) Low forward bias
9 wikas sy
b) Less battery consumption
g Sefk g
c) More battery consumption
i Fefk FuahT
d) none of these
[ 3 Ig T
Correct Answer: More battery consumption

3P Jelk JuHAT

Question 92.A semiconductor has generally valance electrons
Irfidser ¥ THNG: IR ARA T |

Options:

a)?2

b) 3

c)4

d)6
Correct Answer: 4

Question 93.A 4 bit ripple counter and a bit synchronous counter are made using flip flops having a propagation delay of 10 ns each. If the worst case delay in the
ripple counter and the synchronous counter be R and S respectively, then-

T 4 fie Rud FEeR 3R T e Joaiiis HeeR 10 341 IHUS F YRl e e iy ey & 591/ T § | 3 R 9k S Wed wre R # Rudt ddeR ok
TeTpIferh BIIeR P faTs BId gl al -

Options:

a)R=10ns,S=40ns

b)R=40ns,S=10ns
c)R=10nsS=230ns

d)R=30ns,S=10ns
Correct Answer: R =40ns, S =10 ns

Question 94.The K-map for a Boolean function is shown in the figure. The number of essential prime implicates for this function is-

T §feraA eH &1 K BT o & faman o 81 39 wad & sifard siursa safrse fham g 2

AL
i3 5 00 01 11 10

00 1 1 1

01 1

10 1 1

Options:
a)4

b) 5
c)6
d)s8

Correct Answer: 4

Question 95.AND operation of (79)1g and (-56)1¢ result in

(79)10 3R (-56)10 BT AND TR TRUTH ST § :

Options:
a)50H

b) 48 H
c)42H

d) 08 H
Correct Answer: 48 H

Question 96.Conversion of +1000 decimal number into signed binary word results

ST WO +1000 P YT T8 & H TG TR GROMH R :
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Options:
a) 0000 0011 1110 1000

b) 1000 0011 1110 1000
c) 1111 1100 0001 1000

d) 0111 1100 0001 1000
Correct Answer: 1000 0011 1110 1000

Question 97.BCD input 1000 is fed to a 7 segment display through a BCD to 7 segment decoder/driver. The segments which will lit up are

St 37ge 1000 FHY 7 VT fTT H BCD T 79THE fSHIeR/ SRR & AW ¥ %re fhar wian § | 98 Qe St fore ora g
Options:
a)a, b, d

b)a, b, c
c)a,bgcd

d)a,bgcdef
Correct Answer: a, b, g,c, d, e, f

Question 98.Which one of the following can be used to change data from special code to temporal code

31eT B IR Bis J THRA Bis H uRafia &en I foheer SuaT foar o Foan € ?
Options:
a) shift registers

b) counters

B

c) A/D converters

A/D

d) combinational circuits
: ufay

Correct Answer: shift registers

Question 99.Frequencies in UHF range propagate by means of

UHF 391 & Smafiar 39 gRT oaid &1 ot & -
Options:

a) ground waves

YT

b) sky waves

SHTHTI T

C) space waves

SARe T

d) surface waves

Correct Answer: space waves

3aRes &

Question 100.In a transistor which of the following reason is very lightly doped and is very thin

Teh TR § I 1 & Sgd Uaal 3R Sgd H AT H SIS g d
Options:
a) emitter

b) base
ER]
c) collector

d) None of these
9 A I TE

Correct Answer: base

Question 101.Which of the following is a passive component?

T8 A H 1 AifSpy sua §
Options:

a) semiconductor devices

3!

b) vaccum tube devices

fafe e gk

€) capacitors

d) All of these
IWiad T
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Correct Answer: capacitors

Question 102.An infra-red LED is usually fabricated from

3RS LED JHd: fPad S8l g ?
Options:
a) Ge

b) Si
c) Ga As

d) GaAs P
Correct Answer: Ga As P

Question 103.The decimal equivalent of (11011101) is

(11011101) I GRHAT A 2
Options:
a) 225

b) 229
c) 221

d) none
Correct Answer: 225

Question 104.Which of the following classes has lowest efficiency ?

frafifed & § b9 sa BI gar 9a9 $1 gt 8 ?
Options:

a) class A

9ot A

b) class B

9uft B

c) class AB

9ot AB

d) class C

guft C

Correct Answer: class A
9oft A

Question 105.Logic expressions can be simplified by using

T STFAURRIY 1 7o TN ¥ TR ST ST abell
Options:
a) Boolean Algebra Method

LS
b) Karnaugh - map Method
P AY AYS
c) Tabulation Method

LkS

d) any of the these
ESEER) f
Correct Answer: any of the these

A AP o T

Question 106.Access Time in Memories is equal to

AT H VR 99 3% I9H §
Options:
a) Latency Time
qHg
b) Seek Time
b T
c) Transfer Time
TR JHY
d) sum of all these

IWRATd Gt &1 AT

Correct Answer: sum of all these

IRIFd Gt &1 i

Question 107.The universal gate is

qﬁawaﬂ’d%:
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Options:

a) NAND gate

NAND Ti¢

b) OR gate

OR T

c) AND gate

AND ¢

d) None of these
KEJEE]

Correct Answer: NAND gate

NAND Ti¢

Question 108.An AND circuit

T& AND TRTY
Options:
a) is a memory circuit

b) gives an output when all input signals are present simultaneously

T3y T & oie Wit 37ge R

c) is a negative OR circuit

FHUIHDb OR TRUY §

d) is a linear circuit

% RF aRu § |

Correct Answer: gives an output when all input signals are present simultaneously

T3y T § oie Wit 37ge R

Question 109.Which of the following is not a sequential circuit?

fraffad & 3 B deRod ooy T 2
Options:

a) flip-flop

[ESERSIES

b) counter

PBER

c) shift register

d) multiplexer

Correct Answer: multiplexer

Question 110.Most of the memory systems have

Sifirpam AR Red & g |
Options:
a) electro-pneumatic properties

X

b) electrostatic properties

c.) magnetic properties
grafe

d) all of these
IWRiad T

Correct Answer: magnetic properties

Question 111.The commercial efficiency of a shunt generator is maximum when its variable loss equals the loss.

e W= Bt aofes e siiiead it @ wd uRadf g1 TN P RR AT |
Options:
a) Constant

b) Stray

P DS

c) Iron

d) Friction and windage
T SR IS

Correct Answer: Constant

Question 112.Maximum speed of a synchronous machine for 50 Hz is

T R g2 @1 50 Hz & 3ifdian 7fa gnft

Downloaded-From:http://sscportal.in


https://career.aglasem.com/

Downloaded-From:http://sscportal.in

Options:
a) 1500 rmp

b) 3000 rpm
c) 20000 rpm

d) 30000 rpm
Correct Answer: 3000 rpm

Question 113.A balanced star -connected load of (8+j6)Q per phase is connected to a balanced 3-phase 400V Supply. Find the power factor

TP o WR Hdes TS (8+i6)Q U ol T Tferd 3-TeT 400V TS § IST 8 | IR thaeR Sa5d
Options:
a) 0.8 lead

b) 0.8 lag
ol

d) 0.6 lag
Correct Answer: 0.8 lag

Question 114.The efficiency of d.c machine is maximum when variable losses are equal to

DC TR &1 G&rT 1R ad gRT oid dRuad aid P RIS BT |
Options:
a) Constant losses

b) zero

c) Half of constant losses
Fad g1 &1 sem
d) Twice constant losses

T &1 1 &g

Correct Answer: Constant losses

Question 115.Thevenin's theorem is form of an equivalent circuit

A 1 7HY § U gferd uRay &1 7 |
Options:

a) voltage

Cle]

b) current

YRT

c) both voltage and current
Fleeot SR YRT &AL

d) none of these
EREEEER |

Correct Answer: voltage

Question 116.At the time of starting the motor consumes current than normal

T E T AR AAF BT e WA Bl -
Options:
a) Same

b) High
3w

c) Low

El

d) None of these
9 A I TE

Correct Answer: High

Question 117.Two resisters are said to be connected in series uniquely if

ARy efgfa U A alipn AgSguag oaegaea
Options:

a) both carry the same value of current

1 g fagad URT Taed BT @R |

b) anch currents

P URT ST ARITST B URTA & TN 6 SRR T |

c) same current passes in turn through both

TE YRT G TfoRIe | Bl oK |

d) None of these

P T
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Correct Answer: same current passes in turn through both

T URT &1 RRIER § Bl TR |

Question 118.The basic requirement of a d.c. armature winding is that it must be

Rt 3R Hect &t ga siawadar § &
Options:

a)alap W|nd|n%u
FHScll BT UPHR o4 B |
b) a closed one

P &g gl

c) a wave W|nd|ng

PSA TS FUH G |

d) either 'a' or 'c'

& g T

Correct Answer a closed one

el 5 81
Question 119.In order to run an induction motor at synchronous speed

IRUT Hiex &1 RispF4 I1a IR 9a & fag

Options:

a) load must be reduced

IS geHT A1y

b) friction at bearing must be reduced

T F Tefor B H HAT AT

c) e.m.f must be injected in the rotor in a phase with rotor e.m.f

ex # e fAgad ae® aa &1 Ha # A ¥ [9gad IS 9 fd HA1 U |
d) e.m.f. must be injected in the rotor in a phase opposite to the rotor e.m.f.

ex # e fagad ae® gd &1 FHaT & Ao e 3 fagad aTed aa Uid 1 g |
Correct Answer: e.m.f must be injected in the rotor in a phase with rotor e.m.f

ex | e fagad ae® gd & Ha § A ¥ fIgad a6d 9 Ud H1 U |

Question 120."Cogging" in induction motor occurs when

TR Hiex & "SI gt § waf

Options:

a) number of stator teeth-number of rotor teeth = odd number

ReR & Tl B TAT - AR & it B 2T = fawe T

b) number of stator teeth-number of rotor teeth = zero

WeR F il B AT - AR & il Bl AT = LI

;:%E_?mber of stator teeth-number of rotor teeth = even number
il Y T - AR & aiall B} G = TH T

d) number of stator teeth-number of rotor teeth = negative number

WeR & Il B T - AR & &l B TS = HUNHD T

Correct Answer: number of stator teeth-number of rotor teeth = zero

WeR & il P T - AR & gl 3t G = YA

Question 121. In a synchoronous motor with field underexcited, the power factor will be

&R Faford Wies Bt sraer F Rispyg Hiex o1 AfRT Ui BT |
Options:

a) lagging

QAT

b) leading
E 3’

C) unity
Th
d) none of these

P e

Correct Answer: lagging

Question 122.Which relay is used for protection of feeders ?

HIER P e & forg FH-T R v gl 7
Options:

a) MHO relay

MHO Rt

b) Translaty relay

gieret i

E) Merz Price protection

TS IS X&0T
d) Buchholz relay
Thledl R

Correct Answer: Translaty relay
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Question 123.The induced e.m.f. in the armature of a lap wound 4-pole d.c. machine having 1000 armature conductors rotating at 600 rpm and with 0.1 wb flux per
pole is

4-Ure SR 7=fiF T 1000 SR Sheaext ot 0.1 39 Teiad IR Ui Tfed 600 SRUTH TR AT I T §, ITP 3R A TSI emf BTt
Options:
a) 1looov

b) 100 V
c) 10000 V

d)10v
Correct Answer: 10000 V

Question 124.A rectangular waveguide of internal dimensions a=4 cm and b=3 cm is to be operated in TE;; mode. The minimum operating frequency is-

a =4 It quT b=3 Jeft 3TIR AT TTeH Uh MAADHR IS Bl TEy; IS H IRTAMRAG HATR | GAqw uRara Mgy «war gnfl?

Options:
a) 6.25GHz

b) 12 GHz
¢) 3.12 GHz

d) 5 GHz
Correct Answer: 6.25GHz

Question 125.If the carrier of a 100% modulated AM wave is suppressed,the percentage power saving will be

100% FRRICS AM 39 & SRR B! JUY fba1 STE oY Xife S=rd &1 ufaid g
Options:
a) 50

b) 150
c) 100

d) 66.66
Correct Answer: 66.66

Question 126.The basic Data rate of bearer channel in ISDN is

ISDN & foo 3-a & SR ST e
Options:
a) 8 Kbps

b) 16 Kbps
c) 64 Kbps
d) 384 Kbps

Correct Answer: 64 Kbps

Question 127.Which of the following will carry the same information as the AM wave itself ?

fAufarad & o g€t gaT adT § o {5 AM a1 a1 ?
Options:
a) SSB

b) VSB
c) DSB

d) All of these
IWiad Tt

Correct Answer: All of these

Question 128.The disadvantage of FM over AM is that

AM @ AT H FM & I8 IH9H © 5
Options:
a) the noise is very high for high frequency signal
I gl Rgra & forg IR 9gad $ifdis g g |
b) high modulating power is required
P AAWHAT B © |

c) larger bandwidth is required

sfagy @i sMmazadhar gId § |
d) high output power is required
3 3M3eyC Wied Bt SMTIHAT B § |
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Correct Answer: larger bandwidth is required
3 Sefagy Bt SraRuBHdI g |

Question 129.The input impedance of a line of infinite length is equal to

3id oS AT g B gYe HfdaTe RS |
Options:
a) zero

b) Zo/2
c) Zo

d) Infinity
Correct Answer: Zo

Question 130.Microwave ovens operate at a frequency of

AEHRa Mt AR eH BT |
Options:
a) 1.37 GHz

b) 2.45 GHz
c) 3.37 GHz

d) 5.52 GHz
Correct Answer: 2.45 GHz

Question 131.Quadrature amplitude modulation is a combination of

PSR MM AISYTRH BT Ao g |
Options:

a) PSK & FSK

PSK 9 FSK

b) ASK & FSK

ASK d FSK

c) ASK & ICW

ASK 9 ICW

d) ASK & PSK

ASK g PSK

Correct Answer: ASK & PSK
ASK g PSK

Question 132.In an amplitude modulated wave, the value of Emax is 10V and Emin is 5V, then percentage of modulation will be

T Tiieyg Hisgafes H Emax &1 HH 10V 3IR Emin &1 HH 5V 8, A Aisqae &1 wio=mdar gl :
Options:
a) 2%

b) 33.3%
c) 50%
d) 75%

Correct Answer: 2%

Question 133.Typical gain of an amplifier for the UHF channels is

UHF 399 & oIt Tl rR &1 fefied 19
Options:
a)0db

b) 2 db
¢)-5db

d) 40 db
Correct Answer: 2 db

Question 134.Which of the following stages has AGC bias
fofifea & 9 75w ®9 o AGC ST BT ®
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Options:
a) Local oscillator

b) mixer

c) RF ampliffer

RF

d) AFT discriminator
AFT

Correct Answer: mixer

Question 135.If the modulation index of an AM wave is 0.6, the power saved for transmission is

T, T AM T BT HISIARM 3 0.6 7, O IR arge o iR & 5= g |
Options:
a) 0.94

b) 0.9
€038

d) 0.5
Correct Answer: 0.5

Question 136.TEM mode in coaxial line has on.

PIUfREd a3 § TEM WS

Options:

a) no cut off wave length

He 3 39 AY T B E |

b) direct current can't pass

TR BT UNI -Tg) 81 GbaT § |

c) a, b are true for TEM mode
TEMTS & fiWa, bTT T |

d) None of these

IRIed & I FIS et

Correct Answer: a, b are true for TEM mode

TEMHIS & W a, bTT T |

Question 137.The velocity factor of a transmission line depends on -

TR 1 T A oreh fobg R AR e @ 2
Options:
a) Temperature
A
b) skin effect
&5 g
c) Relative permittivity of dielectric
e
d) None of these
9 A IS TE
Correct Answer: Relative permittivity of dielectric
&lch

Question 138.A piece of co-axial cable has a 75 Q characteristic impedance and a nominal capacitance of 69pF/m. What is the inductance per meter ?

T HIE] aa B eAIEes Tfdarem 75 Q 3R oid 69pF/m & | Ufd Hiex IReved fban g1 ?
Options:

a) 0.388 H/m

b) 3.88 pH/m

c) 38.8 pH/m

d) 0.388 pH/m
Correct Answer: 0.388 pH/m

Question 139.A parallel plate lossless transmission line consists of brass strips of width w and separated by a distance d . If both w and d are doubled then its
characteristic impedance will be -

T THIR @Ie BT -Med AR w1z diaa &1 Uiedl &t & el Do w iR e B g d § | 3 w 3R d 1 1 gi1 v T ol & eifireedfres wfcraen -
Options:
a) halved

el g1 st

b) doubled
ST BT SR

c) not change
d) none of thege

0 9 S T
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Correct Answer: not change

Question 140.For transmission line load matching over a range of frequencies, it is best to use a -

gt @t fordt §t g2 39 B TR A dis Afd & o faswieet Sy wafag & 2
Options:
a) Balun

I (Rigferd uRada )
b) Double stub

geXl (S9q) Td

c) Broadband directional coupler
sess folkw gmw

d) Single stub

Thd }d

Correct Answer: Double stub

oYl (S90) Td

Question 141.Altrenately the characteristic impedance is called

TR Tea) B srfiranefire srfiSu Sl Fed |
Options:
a) Match.Impedance

b) Iterative Impedance
c) Surge _Impedance

d) Reflected I.mpedance

Correct Answer: Surge Impedance

Question 142.Johnson noise is

SHRE R (noise) g

Options:

a) caused by thermal agltatlon of free electrons carrying current therefore modulating the current
R 98T B 910 Gad SAae -l & ardig s & SR g & 3R 39 TR URT A0 xar 8
b) noise carried into a circuit through conductors

FHeae! F GRI TH URUY H TG 98 FReT &

c) noise of an electromagnetic origin that is radiated into a ciruit

T fagua-deata 350 &1 71 8, I & uRkuy # ¥3ue g §

d) shot noise which results from emission of electrons across a pn junction

e T1E B, S T SR & I saiaeHi & S &

Correct Answer: caused by thermal agitation of free electrons carrying current therefore modulating the current
YRT G81 HA 910 Gad Sage -l &b dTiig e F HRUT ST § SR T UDHR YRT SfAfysor Har g

Question 143.PSK and FSK are which type of modulation?

PSK U9 FSK g TR & ATSgaRH & ?
Options:
a) Analog Modulation

b) Digital Modulation
fSirea

c) Both Analog Modulation & Digital Modulation
Vi TR o :
d) None of these

R B

Correct Answer: Digital Modulation

Question 144.U interface in ISDN is the interface between

ISDN ¥ U e’ (37 a), e Aer Sy §
Options:

a) PSTN and Desktop

PSTN Td T

b) TA and ISDN Phone

TA T4 ISDN BF

c) TA and non ISDN Device

TA & 11 ISDN f&aa

d) TA and PSTN

TA Td PSTN

Correct Answer: TA and PSTN
TA Td PSTN
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Question 145.Microwaves propagates through waveguide in

AP ATMESY ¥ TR gIet §
Options:

a) Straight Path

de gy o

b) Circular Path

TeIIbR gy H

c) Zigzag path due to reflection of guide

T3S & WA & BRI Tg-He Td H

d) Analog the outer surface of the waveguide

39 TS P A6 g B A

Correct Answer: Zigzag path due to reflection of guide

TEE & WG & HRUT -0 T &

Question 146.Antennas used in Microwave Communication are

TEHIAd TR § Ugad eI 81 &
Options:
a) Paraboljc antennas

b) Dipole antennas
24 (dipole) T
c) Omni direction Antennas

AT (omni direction) TeAT
d) All of these

Correct Answer: Parabolic antennas

Question 147.Standing wave is formed by
Wi a9 ffifa gt &

Options:

a) Superposition of two waves of Same amplitude
TAM SHTAM aT & a1 & SIARY §

b) Superposition of two waves of Same Frequency
T AT Tl & a0 & AR

c) Superposition of two waves of Same Phase
T B Tl &l a & AR §

d) Superposition of two waves of Same Origing
T I T &1 a0 b AR

Correct Answer: Superposition of two waves of Same Frequency
T ST el &l Xl & 3f

Question 148.Impedance inversion may be obtained with

EIREICECEE RIS
Options:

a) a short circuited stub
TS Td & gRI

b) an open circuited stub
ol ©d & gRI

c) a quarter wave line
Teh IS I T P R
d) a half wave line

T e T & gRT
Correct Answer: a quarter wave line
TH I T AR & gRI

Question 149.Thevenin's theorem reduces a two terminal network to a

A3 7R & efifa A aer IR FRIAE |
Options:

a) One terminal network

w <fifa ead

b) current generator in paraIIeI with an impedance
IHIR H SESH & U BRE SFReR

c) Voltage generator in series with an impedance
d).combination of current and voltage generator

YT IR e s SRR BT PG

Correct Answer: combination of current and voltage generator

YT IR e s SRR BT HifaALH

Question 150. The wave applied to X plates in a CRO, for obtaining trace of voltage wave, is -

P T HT SR HA & ol FAg Y SHRIARGIT & X W WR g THR I a1 T ot 8 ?
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Options:

a) sawtooth wave
Sawtooth T

b) sinusoidal wave
RIESIGRU

c) rectangular wave
SMIATBR T

d) either (1) or (2)
1T AX PR R
Correct Answer: sawtooth wave
Sawtooth T

Question 151. A 300 V voltmeter has an accuracy of + 2% of full scale deflection. When the reading is 222 V, the actual voltage-

T 300 V dlecHieR BT TRYGAT quf Roal [G&TH BT + 2% | SF dlecHiex BT U 222 V €1 a1 ardide dieds -
Options:

a) lies between 217.56 and 226.44 V

217.56 3R 226.44 V & oig grft

b) lies between 217.4 and 226.6 V

217.4 3R 226.6 V & s gRit

c) lies between 216 and 228 V

216 3R 228 v & o= gt

d) is exact 222V

Bl 222 v Bift

Correct Answer: lies between 216 and 228 V
216 3R 228 V & s gRit

Question 152.In a CRO which of the following is not a part of electron gun

T WemRal #, Fufafad & I $H sageH 9 &1 Ui 8l §
Options:

a) X-Y Plates

X-Y We

b) Grid

s

c) Cathode
Ealics

d) Accelerating anode

Correct Answer: X-Y Plates
X-Y @e

Question 153.Without a spectrum analyser, it is not possible to determine

WFgH TSR & fo, &1 Fafied Fem gy TR |
Options:
a) carrier frequency

b) antenna pattern
c) pulse width

Ted fagy
d) All of these
I it

Correct Answer: carrier frequency

Question 154.1n a distortion factor meter, the filter at the front end is used suppress

% SRR Hhaex Hiex #, The U8 W IUART 5T 9T arar ftheeR WY HR AT |
Options:
a) odd harmonics

b) even harmonics
qHq
c) fundamental component

d) dc component
de I

Correct Answer: fundamental component

Question 155.A 0-200 V voltmeter has an accuracy of 0.75% of full scale reading. If voltage measured is 100 V, the error is

TF 0-200 V diceHiex 3 quf Whal UREAT 0.75% & | AfE I§ 100V AT § a1 S Bt -
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Options:
a) 3%

b) 2%
) 1.5%

d) .75%
Correct Answer: 1.5%

Question 156.Repeatability and Reproducitibility are related to

BIERM SR GAEIE P &1 JaRd § -
Options:
a) Accuracy of the instrument
JUDBRT B
b) Precision of the instrument
U] Tt TR I
c) Both Accuracy of the instrument & Precision of the instrument
IR &1 URGAT T T JUSHRN BT IR § 1
d) None of these

REIEET]
Correct Answer: Precision of the instrument
ISR B} gUrRfar I

Question 157.A 0-300 V voltmeter has an error of £ 2% of full scale deflection. What would be the range of reading if true voltage is 30 V?

T 0-300 V dieeHiex BT + 2%, JUT Wbel [I&T BT 2 | e T diedsl BT HF 30 V & o UTaHies 1 IS BT |
Options:

a) 24V-36V

24 diee 36 diee

b) 29.4V-30.6V

29.4 diee ¥ 30.6 Tl

) 20V-40V

20 dice ¥ 40 dfee

d) none of these

SRiad & T IS Taf
Correct Answer: 24V-36V
24 dice ¥ 36 diee

Question 158.Air cored inductive transducer are suitable for use

AGHIS BT ISR ¥ o Suantt B 1
Options:

a) at lower frequencies

SfUETHa Y smgfa

b) at higher frequencies

SUETHT I Mg

c) at equal frequencies

dgd HH Mgl

d) as are employed for iron cored transducer
O TR e IS TSR

Correct Answer: at higher frequencies

SUeFHd 3 3Mafd

Question 159.A vertical amplifier for a CRO can be desinged for

CROFfUIgedmads _ FRwwmeae |
Options:

a) only a high gain

Pad I A

b) only a broad bandwidth

Faq e Fefagy

c)a constant gafn times bandwidth product

d) all of these
IWRiad T

Correct Answer: a constant gain times bandwidth product

Question 160.Spectrum analyzer is designed to represent graphically a plot of

WaeH faxive ot WA ¥ i wie & A e & e #t S R |
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Options:

a) amplitude vs phase
3™

b) phase vs frequency
ot SR rrafa

c) amplitude vs time

T 3R TG

d) amplitude vs frequency

ST 3R gfa

Correct Answer: amplitude vs frequency
ST 3R

Question 161.DC probes are generally used with a voltmeter to

Feeticx & T S Ui &1 JuhnT PSR |

Options:
e) Decrease its range

b) Increase its range
I B M & ol
c) Frequency independent

g w AR T

d) None of these
IWad & A B T
Correct Answer: Decrease its range

I &l geH & forg

Question 162.A tangent galvanometer is a

TF e TAaHIHeR BT R :
Options:
a) primary instrument
SECRUV]
b) indicating instrument
: IR
c) absolute instrument
[SECZ
d) secondary instrument
H SRl JUBRUT
Correct Answer: secondary instrument
H ST JUBRUT

Question 163.

The forward transfer function of a ufb systemis G(s) =
1

e The system will be -

& ufb FErel UOTEN & A T A Helel
G(s)=—————— & | a7 gI-

25* +535% 455 425
Options:
a) stable
=yt
b) unstable
Ind) i

c) marginally stable

el =0 & (ol )ywmdt

d) more information is required
BT ATTZIDHAT §

Correct Answer: unstable

Question 164. For the signal flow graph shown in fig below the graph determinant A is -

o & foar T Ryret vl U6 & o UTh IR (determinant) A BT
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Options:
a) 1-bc-fg-bcfg+cigj

b) 1-bc-fg-cigj+bcfg
c) 1+bc+fg+cigj-bcfg

d) 1+bc+fg+bcfg-cigj
Correct Answer: 1+bc+fg+bcfg-cigj

Question 165. If the characteristic equation of a closed - loop system is s2+ 2s + 2 = 0, then the system is-

T T Felies G B YRl 1 SifiiereifOie TeieRur s2+ 2s + 2 = 0 & df yoreh gt -
Options:
a) overdamped

b) critically damped
wi® saufd

c) underdamped

=

d) undamped

- fgHfed

Correct_Answer: underdamped

I sqrfed

Question 166.In the standard form of closed loop transfer function of second order system is given by C(s)/R(s)= wzn /52+2qmns+w2n The damping ratio g =0, then
the system is
Uobs TS RRCH Pl NS U TRIPBR Ha=H Bl HFD BIH 8 1 C(s)/R(S)= Wy /52+2cwps+n2, ST ¢ =1 §, A Fea &8l

Options:
a) undamped system

b) und_ér damped system
SR SUS
c) critically damped system

d) over damped system

Correct Answer: undamped system

Question 167.In the transient response of a second order system, delay time tg is the time required for the response to reach the of the final value

g o & ty Tiadite Raug & 3T Sy 7F & AT 9% UTgaH | T T $ fAds B $8d ¢ |
Options:

a) half

b) 1/v2

<) 25%

d) 10%
Correct Answer: half

Question 168.The effect of addition of poles and zeros on phase margin and gain margin can be most conveniently seen in

Tt HIRH 31k T H1RH IR ¢ wd ofRY & U1 B % GRI Sgd AT <G o GebaT & |
Options:

a) Bode plot

e wic

b) Nyquist plot
Wi

c) Root locus

¥

d) Routh hurwitz

ASY BT

Correct Answer: Bode plot

S wile

Question 169.Which of the following is used for Nyquist plot?
frofifed & § fFefax wic & R aF W giarg |
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Options:

a) Characteristic equation

SHTYED

b) close loop function

§¢ S0 e

c) either 'a' or 'b'

D HYdI g

d) open loop function

gal U e

Correct Answer: open loop function

RENIRVEREANE

Question 170.The best method for determining the stability and transient response is

T I 3R TEd & RURT & o Ted 331 adie =
Options:
a) Root locus
c
b) Nyquist plot
wie
c) Bode plot
918 wic
d) none of these
9 A 31 TE
Correct Answer: Root locus
FC qHY

Question 171.The electrical capacitance is analog of ____

RFIPINET_ OB |
Options:

a) Fluid flow

TS Wl

b) Thermal resistance
iR

c) Inertia

Sgd

d) Spring

i

Correct Answer: Inertia
s

Question 172.The operational amplifier used in analog computers should have

TGN FHPex B TART 8 ITelm SRR THEHhBRR &l g AIRT |
Options:

a) very high gain

Tgd ol T

b) very low gain

§gd ®H 71

c) Gain is not important

d) Low input resistance
®H FYC
Correct Answer: very low gain

§gd ®H 71

Question 173.Usually the control system used should have

HHERIG: TN U STH aTdl e Ried & AT TR |
Options:
a) No damping action

T TR et
b) Under damping action
3SR Sfthr tarH
c) Critical damping action

JRURCRE]

d) Over damping action
SfiaR SfthT TeRE
Correct Answer: No damping action

HIg ST TR e
Question 174.The unity circle of Nyquist plot corresponds to 0 & B line of Bode plot for
oo wie &1 gfet wfha % forg o wie &1 0 SR B 1" I TSRAIT ST 8 |
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Options:
a) Low frequencies

b) High frequencies
I g

c) All of these
IWiad Tt

d) None of these

[ 3 Ig Tl
Correct Answer: High frequencies
I gfd

Question 175.Band width is the range of frequencies for which system gain is

I gy sl AT SRR, Sor e Rem = __ garg
Options:

a) Less than 9 db

o & A HH

b) More than 20 db

20 S ¥ 1w

c) More than -3 db

-331 ¥ SffYe

d) Less than 10 db

10 St ¥ HH

Correct Answer: Less than 10 db

10 S FHH

Question 176.An 8085 microprocessor based system uses a 4K X 8 bit RAM whose starting address is AAOOy. The address of the last byte in this RAM is-

T 8085 TTSHITRRR MR & 4K X 8 e RAM BT IUANT 8laT & Fordht RIS T3¥ AAO, § | T RAM & 3ifaW a18e &1 129 -

Options:
a) OFFFy

b) 10004
¢) B9FFy

d) BAOOH
Correct Answer: BOFFy

Question 177.1In the instruction MOV A, M

TSI MOV A, M A

Options:

a) the content of memory addressed by HL pair is moved to A register

HL TR gRT TSRe AR 3 3fadeg A forex & ge1 ff ot 8

b) The content of A register is moved to memory location addressed by HL pair

A IR P 3R HL TR GRT USTS AHR) Shbe H gl < oIt &

c) the 8 bit data is moved to A register

8-bit STeT A FeR | geT & oIkl §

d) none of these

T A BIS el

Correct Answer: the content of memory addressed by HL pair is moved to A register

HL TR gRT TS AR & 3iade A Iorex # ge1 & ot &

Question 178.The DBMS is divided into

DBMS 35 v grar &

Options:
a) hierarchical mode

b) networking model
c) relational model

TIYTHS A1
d) All of these
IR T

Correct Answer: All of these

Question 179.Find the invalid FOR loop structure

3T FOR T TRTT &1 Tl B
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Options:
a) FOR I=1 to N DO

b) FOR J=1 TO 10 DO
¢) FOR K=1 TO (2*N) DO

d) All of these
IRIad T

Correct Answer: All of these

Question 180.For long distnce communication which of the following data transfer technique is used?

FoafifEd & @ B @ el B dedie N e SrgReeE ¥ uged g1 &
Options:
a) Serial Transfer
THHR
b) Parallel Transfer
IR TFAHR
c) Serial-Parallel transfer
-ORAd TRIBR

d) Parallel-Serial Transfer

WRad-RRad TFIwR

Correct Answer: Serial Transfer
Rad gamx

X

Question 181.system input of the Close loop circuit is output of

il U Hide 1 RReH e, 33eYe §
Options:

a) Controller after measuring the error

e AT & UYTd HelaR

b) Feedback after measuring the output

ST3TYS AU & T
c) Direct input for desired output

ifsd 3M3eYe & o Srkae 379
d) All of these
SRIad Tt

Correct Answer: Controller after measuring the error

AR AU & UYTd BTl

Question 182.Which of the following instruction can alter the normal incrementing of the program counter ?

R HTex & T SHIAT o o =T gRT Sear o JadT § 2
Options:

a) interrrupt

Eat

b) call

EaK|

c) branch

EIC

d) all of these

T,

Correct Answer: all of these

gt

Question 183.Which device converts, a decimal input number to binary

B U Iy SRMT $7Ye R & AR & dged g ?
Options:
a) accumulator:

I_J) encoder

c) ALU
d) memory

Correct Answer: ALU

Question 184.In which logic gate, the output is HIGH when all the inputs are LOW?

forg difore e #, Wit $99¢ Low §1F TR 3M3TYE HIGH B |
Options:
a) AND

b) OR
c) NOR

d) NAND
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Correct Answer: NOR

Question 185.The word length for computers ranges from

G P TS I B |
Options:

a) 4 bits to 16 bits

49T 9 16 oy

b) 4 bits to 32 bits

4 f9eg ¥ 32 oo

c) 4 bits to 12 bits

4 e 9 12 oy

d) 4 bytes to 32 bytes

4 915¢Y 9 32 913cH
Correct Answer: 4 bits to 12 bits
49 12 focw

Question 186.There are types of flags in 8086

8086 & YHR & WHTEIA ¢ |
Options:
a)8

b) 9
c)7

d) 4
Correct Answer: 7

Question 187.When the signal on REST IN goes low, which of the following happens in 8085?

8085 & &1 §¥T , 51& REST IN Ru@ A Y S @
Options:
a) The program counter is set to zero
PR LI R ¢ B oIl 3
b) The buses are tristated
T i

c) The MPU is reset
MPU $9e BT ®

d) All of these
IWRiad T

Correct Answer: The MPU is reset

MPU $8e §laT 8

Question 188.In 8085, instruction ADD IMMEDIATE to ACCUMULATOR WITH CARRY is represented by the opcode

8085 T, X2 ADD IMMEDIATE ¥ ACCUMULATOR WITH CARRY 3MUdis & yeRid glarg :
Options:
a) ADC

b) ACI
) ADD

d) ADI
Correct Answer: ADD

Question 189.Which among following first generation of MB_Computers had ?

gffaa o § HH MB computers TYH SAREF A B ?
Options:
a) Magnetic Tape and Transistors

I?) Integrated Cfrcuits

c) Vaccum Tubes and Magnetic Drum

I E IR IRk® 31
d) All of these
IR Tt

Correct Answer: Vaccum Tubes and Magnetic Drum

JgH E SR Wfed gH

Question 190.The number of bits used to store a BCD digit is:

BCD fefore &1 €R oA & forg Wi g1 arell focy &t Te
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Options:
a)8

b) 4
c)2

d1
Correct Answer: 4

Question 191.Man-made noise is caused by

AFg-Affd IR (noise) T ¥, 3% HRUT
Options:
a) solar eruptions

b) distant stars
R

c) arc discharge n electrical machine
fagaa o= o ands et

d) lightining discharges

afed fewarst

Correct Answer: arc discharge n electrical machine

fagaa m=in & onds fEwamst

Question 192.The maximum power transfer theorem is used in

BT TIGR TR T BT SUGNT fbaT ST § ST -
Options:
a) electronic circuits
e uRuy
b) power system
IR Req
c) home lighting circuits
T8 USRI IRy
d) none of these
9 A1 TE
Correct Answer: electronic circuits
iy

Question 193.Which of the following is a correct statement ?

fgdsraeraas |

Options:

a) Hardware is merely the preparation of printed circuit board for the connection of microprocessor (pP).

TEHIVIRWR (UP) Bl Sie & AT PCB & IR 31 & gTamR &

b) Software is to provide the required IC chips for pP

TRHITRAMR & T 9ifed IC e yp ST HRAT AHedaR 8 |

c) Hardware is to develp program and to feed into the computer.

T ST T HgeR | ol §TediR ¢ |

d) Software is the impermanent informational structure.

IR TH TS JI-1g TR 8 |

Correct Answer: Software is the impermanent informational structure.
1L TH TS G- W1 § |

Question 194.A USTART chip provides

T USTART frg TS PRI B |
Options:
a) half duplex operation
PEISET

b) full duplex operation

ERESREI T
c) duplex operation

PEIGE]

d) full duplex operation but cannot work in asynchronous mode

TR YETeH A SRiwh Y e & B 76l aR Ihar g |

Correct Answer: full duplex operation but cannot work in asynchronous mode

Ul S TR A AR Y P T HGHATE |

Question 195.Floppy disk is
Tt {3 §
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Options:
a) a primary memory

b) cache memory

c) nothi.ng but hard disk
FS 6l Had gIS [S%h

d) used for backup purpose
Y& 37 RIS & forg

Correct Answer: nothing but hard disk

$o el hadl e [5wh

Question 196.How many bits are needed to address 64K memory location

64 K HHI b2 ! U858 3 & forw i bits &Y sfraxgesar gt 2
Options:
a)8

b) 10
c) 16

d) 32
Correct Answer: 8

Question 197.which of the following is fastest memory cell?

fufafed ¥ § P I8 oo AERT I ST 82
Options:
a) core memory

b) semiconductor memory

c) bubble memory
CESREEIL]
d) superconductor memory

Correct Answer: core memory

PR AR

Question 198.Which of the following are not peripheral devices?

fofifad & 3 o IRtha feaa 78t |
Options:
a) vbuU

b) CPU

c) Printer

d) floppy drive
AT gIed

Correct Answer: Printer

Question 199.Dynamic memory is made up of

SEAS AR S B §
Options:

a) flip flop

oy T

b) MOS transistor gate
MOS gfoReR Tie

€) magnetic core

d) magnetic bubbles
ECI

Correct Answer: MOS transistor gate

MOS gioReR e

Question 200. is a structured high level language

TP T8 Aad UM § |
Options:
a)C
b) fortran
é) Window

d) JAVA
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Correct Answer: C
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